PUZZLE OF THE WEEK

SOLUTION

Bullseye!

How many points does Archer B score knowing that the total score of Archer A is 55 and that
different points are earned in the ten zones in ascending value toward the center?

Archer B scored 30 points. The outer zone is worth 1 point, then 2, 3, etc. The center is worth
10 points. 5+ 8 + 8 + 9 = 30.

Be sure to check the next newsletter to see the solution! If you have questions about or
suggestions for the puzzle of the week, let Ms. Rush know!

Special thanks to rd.com for the puzzle



